= BARRACUDA

LEGEND
ASSEMBLING INSTRUCTION G
1. EXTRALIGHT BRACKET 3. TEFLON WASHERS 26
STAFFA FARETTO RONDELLA TEFLON @6
EXTRALIGHT BRACKET SOPORTE EXTRALIGHT ARANDELAS DE TEFLON @6
SCHEINWERFER HALTERUNG TEFLONSCHEIBE @6
SUPPORT EXTRALIGHT RONDELLE EN TEFLON @6
- 2. ALLEN SCREW M6X16
YMTR7900-20 VITE A BRUGOLA M6X16

TORNILLO ALLEN M6X186
INBUSSCHRAUBE M6X16
WWW.BARRACUDAMOTO.COM VIS ALLEN M6X16

EXTRALIGHT NOT INCLUDED IN THE KIT




